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Tap material Surface treatment
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i g S0.5x0.125 1C-S1 1C S1 2 30 3 0.7 X0.175 B-S2 B s2 2.5 30 3
% = S0.5x0.125 1C-S2 1C s2 2 30 3 S0.7X0.175 B-S3 B s3 2.5 30 3
n= S0.5x0.125 1C-S3 1C s3 2 30 3 S0.7x0.175 B-S4 B s4 2.5 30 3
= g S0.5x0.125 B-S1 B S1 2 30 3 S0.8 x0.2 1C-s2 1© s2 3 30 3
= S0.5x0.125 B-S2 B s2 2 30 3 S0.8 x0.2 1C-s3 1© s3 3 30 3
5 |< S0.5x0.125 B-S3 B s3 2 30 3 S0.8 x0.2 1C-s4 1C sS4 3 30 3
= S0.6X0.15  1C-S1 1C S1 2.5 30 3 S0.8 x0.2 B-s2 B s2 3 30 3
S0.6x0.15  1C-S2 1C s2 2.5 30 3 S0.8 x0.2 B-S3 B s3 3 30 3
3@ S0.6 x0.15  1C-S3 1C S3 2.5 30 3 S0.8 x0.2 B-S4 B s4 3 30 3
= S0.6x0.15  B-S1 B S1 2.5 30 3 S0.9 x0.225 1C-S2 1C s2 3 30 3
& 9 S0.6x0.15 B-s2 B s2 2.5 30 3 S0.9x0.225 1C-S3 1C s3 3 30 3
EE S0.6 x0.15  B-S3 B s3 2.5 30 3 S0.9 x0.225 1C-S4 1© sS4 3 30 3
%T:E 0.7 X0.175 1C-S2 1C s2 2.5 30 3 S0.9 x0.225 B-S2 B s2 3 30 3
S E S0.7x0.175 1C-S3 1C S3 25 30 3 S0.9 x0.225 B-S3 B S3 3 30 3
%ﬁ S0.7x0.175 1C-S4 1C sS4 2.5 30 3 S0.9 x0.225 B-S4 B sS4 3 30 3
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S0.5x0.125x50 1C-S1| 1C S1 2 50 3 S0.7 x0.175 x50 B-S2 B s2 2.5 50 3
S0.5x0.125x50 1C-S2| 1C s2 2 50 3 S0.7 Xx0.175x50 B-S3 B S3 2.5 50 3
S0.5x0.125x50 1C-S3| 1C s3 2 50 3 S0.7 x0.175 x50 B-S4 B sS4 2.5 50 3
S0.5 x0.125 x50 B-S1 B S1 2 50 3 s0.8x0.2 x50 1C-S2| 1C s2 3 50 3
S0.5 x0.125 x50 B-S2 B s2 2 50 3 s0.8x0.2 x50 1C-S3| 1C S3 3 50 3
S0.5 x0.125 x50 B-S3 B s3 2 50 3 s0.8x0.2 x50 1C-S4| 1C sS4 3 50 3
S0.6 Xx0.15 x50 1C-S1| 1C S1 2.5 50 3 S0.8x0.2 x50 B-S2 B s2 3 50 3
S0.6 x0.15 x50 1C-S2| 1C s2 2.5 50 3 S0.8x0.2 x50 B-S3 B s3 3 50 3
S0.6 X0.15 x50 1C-S3| 1C S3 2.5 50 3 s0.8x0.2 x50 B-S4 B s4 3 50 3
S0.6 Xx0.15 x50 B-S1 B S1 2.5 50 3 S0.9 x0.225x50 1C-S2| 1C s2 3 50 3
S0.6 Xx0.15 x50 B-S2 B s2 2.5 50 3 S0.9 x0.225x50 1C-S3| 1C S3 3 50 3
S0.6 Xx0.15 x50 B-S3 B S3 2.5 50 3 S0.9 x0.225%50 1C-S4| 1C sS4 3 50 3
S0.7 x0.175x50 1C-S2| 1C s2 2.5 50 3 S0.9 x0.225 x50 B-S2 B s2 3 50 3
S0.7 X0.175x50 1C-S3| 1C s3 2.5 50 3 S0.9 x0.225 x50 B-S3 B s3 3 50 3
$0.7 X0.175x50 1C-S4| 1C sS4 2.5 50 3 S0.9 x0.225 x50 B-S4 B sS4 3 50 3
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M1 x0.25 1CO 1C 0 5 30 3 M1 x0.2 3C6 3C 5 5 30 3 ?yf’.
M1 x0.25 1C1 C 1 5 30 3 M1 x0.2 3C7 3C 7 5 30 3 7%
M1 x0.25 1C2 1C 2 5 30 3 M1 x0.2 3C8 3c 8 5 30 3 -0
M1 x0.25 1C3 1C 3 5 30 3 M1 x0.2 PO P 0 5 30 g £1
M1 x0.25 1C4 1C 4 5 30 3 M1 x0.2 PI1 P 1 5 30 3 E >
M1 x0.25 1C5 1C 5 5 30 3 M1 x0.2 P2 p 2 5 30 3 =
M1 x0.25 1C6 1C 6 5 30 3 M1 x0.2 P3 P 3 5 30 3 ka3
M1 x0.25 1C7 c 7 5 30 3 M1 x0.2 P4 P 4 5 30 3
M1 x0.25 1C8 1C 8 5 30 3 M1 x0.2 P5 P 5 5 30 3 =9
M1 x0.25 BO B 0 5 30 3 M1 x0.2 P6 P 6 5 30 B Fi’%
M1 x0.25 BI B 1 5 30 3 M1 x0.2 P7 p 7 5 30 3 m
M1 x0.25 B2 B B 5 30 3 M1 x0.2 P8 P 8 5 30 3 I& @
M1 x0.25 B3 B 3 5 30 3 M1.1x0.25 1CO 1C 0 5 32 3 £a
M1 x0.25 B4 B 4 5 30 3 M1.1x0.25 1C1 1C 1 5 32 3 E§
M1 x0.25 BS5 B 5 5 30 3 M1.1x0.25 1C2 1C 2 5 32 3 xo
M1 x0.25 B6 B 6 5 30 g M1.1x0.25 1C3 1C g 5 ZB B =
M1 x0.25 B7 B 7 5 30 3 M1.1x0.25 1C4 c 4 5 32 3 %’
M1 x0.25 BS B 8 5 30 3 M1.1x0.25 1C5 1C 5 5 32 3 =
M1 x0.25 3CO0 3C 0 5 30 3 M1.1x0.25 1C6 1C 6 5 32 3 ]
M1 x0.25 3C1 3C 1 5 30 3 M1.1x0.25 1C7 1C 7 5 32 3 _
M1 x0.25 3C2 3c 2 5 30 3 M1.1x0.25 1C8 1C 8 5 32 3 E |
M1 x0.25 3C3 g6 3 5 30 g M1.1x0.25 BO B 0 5 32 B =T
M1 x0.25 3C4 3C 4 5 30 3 M1.1x0.25 BI B 1 5 32 3 .
M1 x0.25 3C5 3C 5 5 30 3 M1.1x0.25 B2 B 2 5 32 3 a7
M1 x0.25 3C6 3C 6 5 30 3 M1.1x0.25 B3 B 3 5 32 3 L
M1 x0.25 3C7 3C 7 5 30 3 M1.1x0.25 B4 B 4 5 32 3 b4
M1 x0.25 3C8 3c 8 5 30 3 M1.1x0.25 B5 B 5 5 32 3 IT
M1 x0.25 PO P 0 5 30 g M1.1x0.25 B6 B 6 5 B g C
M1 x0.25 PI1 P 1 5 30 3 M1.1xX0.25 B7 B 7 5 32 3
M1 x0.25 P2 P 2 5 30 3 M1.1x0.25 B8 B 8 5 32 3
M1 x0.25 P3 P 3 5 30 3 M1.1X0.25 3CO 3C 0 5 32 3
M1 x0.25 P4 p 4 5 30 3 M1.1x0.25 3C1 3C 1 5 32 3
M1 x0.25 P5 P 5 5 30 3 M1.1x0.25 3C2 3C 2 5 32 3
M1 x0.25 P6 P 6 5 30 g M1.1x0.25 3C3 e g 5 32 g
M1 x0.25 P7 p 7 5 30 3 M1.1x0.25 3C4 3C 4 5 32 3
M1 x0.25 P8 P 8 5 30 3 M1.1x0.25 3C5 3C 5 5 32 3
M1 x0.2 1CO 1C 0 5 30 3 M1.1x0.25 3C6 3C 6 5 32 3
M1 x0.2 1C1 c 1 5 30 3 M1.1x0.25 3C7 3C 7 5 32 3
M1 x0.2 1c2 1C 2 5 30 3 M1.1x0.25 3C8 3C 8 5 32 3
M1 x0.2 1C3 1C 3 5 30 g M1.1x0.25 PO P 0 5 ZB B
M1 x0.2 1C4 i 4 5 30 3 M1.1x0.25 PI1 p 1 5 32 3
M1 x0.2 1C5 G 5 5 30 3 M1.1x0.25 P2 P 2 5 32 3
M1 x0.2 1C6 1C 6 5 30 3 M1.1x0.25 P3 p 3 5 32 3
M1 x0.2 1C7 1C 7 5 30 3 M1.1x0.25 P4 P 4 5 32 3
M1 x0.2 1C8 1C 8 5 30 3 M1.1x0.25 P5 P 5 5 32 3
M1 x0.2 BO B 0 5 30 g M1.1x0.25 P86 P 6 5 ZB 3
M1 x0.2 BI B 1 5 30 3 M1.1x0.25 P7 p 7 5 32 3
M1 x0.2 B2 B 2 5 30 3 M1.1x0.25 P8 P 8 5 32 3
M1 x0.2 B3 B 3 5 30 3 M1.1x0.2 1CO c 0 5 32 3
M1 x0.2 B4 B 4 5 30 3 M1.1x0.2 1C1 1C 1 5 32 3
M1 x0.2 BS B 5 5 30 3 M1.1x0.2 1C2 1C 2 5 32 3
M1 x0.2 B6 B 6 5 30 3 M1.1x0.2 1C3 G z 5 =g 3
M1 x0.2 B7 B 7 5 30 3 M1.1x0.2 1C4 1C 4 5 32 3
M1 x0.2 B8 B 8 5 30 3 M1.1x0.2 1C5 1C 5 5 32 3
M1 x0.2 3CO0 3C 0 5 30 3 M1.1x0.2 1C6 1C 6 5 32 3
M1 x0.2 3C1 3c 1 5 30 3 M1.1x0.2 1C7 1C 7 5 32 3
M1 x0.2 3c2 3C 2 5 30 3 M1.1x0.2 1C8 1C 8 5 32 3
M1 x0.2 3C3 3C 3 5 30 3 M1.1x0.2 BO B 0 5 32 3
M1 x0.2 3C4 3C 4 5 30 3 M1.1x0.2 BI B 1 5 32 3
M1 x0.2 3C5 3C 5 5 30 g M1.1x0.2 B2 B 2 5 32 3
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Tap material Surface treatment Tap material Surface treatment
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3C 3 o M1.4x0.3 3C7 3C 7 7 34 3 M1.6x0.35 3CI 3C 1 8 36 3
P | aw 25 M1.4x0.3 _ 3C8 ac | s 7 | 3 | 3 M1.6x0.35 3C2 ac | 2 8 | 36 | 3
i3 - M1.4x0.3  3C9 ac | o 7 | 34 | 3 M1.6x0.35 3C3 ac | 3 8 | 36 | 3 BX3
gJ: R M1.4x0.3 Pl P 1 7 | 3 | 3 M1.6x0.35 3C4 ac | 4 8 | 36 | 3 J:g
ST . n ) e - ) M1.4x0.3 P2 P 2 7 |3 | 3 M1.6x0.35 3C5 ac | 5 8 | 36 | 3 S
%g U EvF BHEE Bt HE IR =R R U EvF BHIEE Bt HE IR =R R M1.4x0.3  P3 P 3 - 32 3 M1.6x0.35 3CB 30 s = 36 3 g%
3y M1.1x02 B3 B 3 5 | 32 | 3 M1.2x02 _ 1C0 1cC_ | o 5 | 32 | 3 M1.4x0.3 P4 P a 7 | 384 | 3 M1.6x0.35 3C7 ac | 7 8 | 36 | 3 i
] M1.1x0.2 B4 B 4 5 | 32 | 3 M1.2x02  1C1 c | 1 5 | 32 | 3 M1.4x0.3 PS5 P 5 7 |3 | 3 M1.6x0.35 3C8 ac | s 8 | 36 | 3 5
i M1.1x0.2 _ BS B 5 5 | 32 | 3 M1.2x02  1c2 ic | e 5 | 3 | 3 M1.4x0.3 P86 P 6 7 |34 | 3 M1.6x0.35 3C9 & | o 8 | 36 | 3 o
33 M1.1x0.2 _ B6 B 6 5 | 32 | 3 M1.2x02  1C3 ic | 3 5 | 32 | 3 M1.4x0.3 P7 P 7 7 | 3 | 3 M1.6x0.35 P1 P 1 8 | 36 | 3 g3
- M1.1x0.2 _ B7 B 7 5 | 32 | 3 M1.2x0.2 _ 1C4 1c | 4 5 | 32 | 3 M1.4x0.3 P8 P 8 7 | 3 | 3 M1.6x0.35 P2 P 2 8 | 36 | 3 -
m 7 M1.1x0.2 B8 B 8 5 | 32 | 3 M1.2x0.2 _ 1C5 1cC | 5 5 | 32 | 3 M1.4x0.3 P9 P 9 7 | 3 | 3 M1.6x0.35 P3 P 3 8 | 36 | 3 2
3k M1.1x0.2  3C0 3¢ | o 5 | 32 | 3 M1.2x0.2  1C6 1c | 6 5 | 32 | 3 M1.4x0.2  1C0 1c | o 7 | 84 | 3 M1.6x0.35 P4 P a 8 | 36 | 3 L
M1.1x0.2 _ 3C1 ac | 1 5 | 32 | 3 M1.2x02  1C7 1c | 7 5 | 32 | 3 M1.4x0.2  1CI c | 1 7 |3 | 3 M1.6x0.35 PS5 P 5 8 | 36 | 3
og M1.1x0.2 _ 3c2 ac | 2 5 | 32 | 3 M1.2x0.2 _ 1c8 1c | 8 5 | 32 | 3 M1.4x02 1c2 ic | @ 7 |34 | 3 M1.6x0.35 P86 P 6 8 | 36 | 3 =
= A M1.1x0.2  3C3 ac | 3 5 | 32 | 3 M1.2x0.2  BO B 0 5 | 32 | 3 M1.4x02 1C3 1c | 3 7 | 3 | 3 M1.6x0.35 P7 P 7 8 | 36 | 3 A 8
& M1.1x0.2 _ 3C4 ac | 4 5 | 32 | 3 M1.2x0.2 _ BI B 1 5 | 32 | 3 M1.4x0.2 _ 1ca ic | 4 7 | 34 | 3 M1.6x0.35 P8 P 8 8 | 36 | 3 &
=g M1.1x0.2 _ 3C5 ac | 5 5 | 32 | 3 M1.2x02 B2 B 2 5 | 32 | 3 M1.4x0.2  1C5 1cC | 5 7 | 34 | 3 M1.6x0.35 P9 P 9 8 | 36 | 3 B
S 1E M1.1x0.2  3C6 sc | 6 5 | 32 | 3 M1.2x0.2 B3 B 3 5 | 32 | 3 M1.4x02  1C6 1c | 6 7 | 3 | 3 M1.6x0.2 _ 1c0 1c | o 8 | 36 | 3 £z
Sl M1.1x0.2 _ 3C7 ac | 7 5 | 32 | 3 M1.2x02 B4 B 4 5 | 32 | 3 M1.4x02  1C7 ic | 7 7 |3 | 3 M1.6x0.2  1C1 c | 1 8 | 36 | 3 ES
Sz M1.1x0.2  3C8 ac | s 5 | 32 | 3 M1.2x0.2  BS B 5 5 | 32 | 3 M1.4x0.2  1C8 ic | s 7 |34 | 3 M1.6x0.2 1c2 ic | @ 8 | 36 | 3 xo
o M1.1x0.2 PO P 0 5 | 32 | 3 M1.2x0.2  B6 B 6 5 | 32 | 3 M1.4x02 BO B 0 7 | 3 | 3 M1.6x02  1c3 1c | 3 8 | 36 | 3 2
- M1.1x0.2 _ P1 P 1 5 | 32 | 3 M1.2x0.2  B7 B 7 5 | 32 | 3 M1.4x0.2 _ BI B 1 7 | 3 | 3 M1.6x02 1c4 ic | 4 8 | 36 | 3 =
e M1.1x0.2 P2 P 2 5 | 32 | 3 M1.2x0.2 B8 B 8 5 | 32 | 3 M1.4x02 B2 B 2 7 | 3 | 3 M1.6x0.2  1C5 1cC | 5 8 | 36 | 3 =
= M1.1x0.2  P3 B 3 5 | 32 | 3 M1.2x0.2  3C0 ac | o 5 | 32 | 3 M1.4x02 B3 B 3 7 | 3 | 3 M1.6x0.2  1C6 1c | 6 8 | 36 | 3 S
_ M1.1x02 P4 B 4 5 | 32 | 3 M1.2x0.2 _ 3C1 ac | 1 5 | 32 | 3 M1.4x0.2 B4 B 4 7 |3 | 3 M1.6x0.2  1C7 ic | 7 8 | 36 | 3 _
| 3 M1.1x0.2  P5 B 5 5 | 32 | 3 M1.2x0.2  3c2 ac | 2 5 | 32 | 3 M1.4x0.2 BS B 5 7 |38 | 3 M1.6x0.2  1C8 1c | s 8 | 36 | 3 =
T= M1.1x0.2 _P6 P 6 5 | 32 | 3 M1.2x0.2  3C3 ac | 3 5 | 32 | 3 M1.4x02 B6 B 6 7 | 3 | 3 M1.6x0.2 BO B 0 8 | 36 | 3 =T
T M1.1x0.2 _ P7 P 7 5 | 32 | 3 M1.2x0.2 _ 3Ca ac | 4 5 | 32 | 3 M1.4x02 B7 B 7 7 | 3 | 3 M1.6x0.2 _ BI B 1 8 | 36 | 3 my
75 M1.1x0.2 P8 P 8 5 | 32 | 3 M1.2x0.2 _ 3C5 ac | 5 5 | 32 | 3 M1.4x0.2 B8 B 8 7 | 34 | 3 M1.6x02 B2 B 2 8 | 36 | 3 o7
L M1.2x0.25 1C0 1c | o 5 | 32 | 3 M1.2x0.2  3C6 ac | 6 5 | 32 | 3 M1.4x0.2  3C0 ¢ | o 7 | 34 | 3 M1.6x0.2 B3 B 3 8 | 36 | 3 L
J M1.2x0.25 1C1 1c | 1 5 | 32 | 3 M1.2x0.2 _ 3C7 ac | 7 5 | 32 | 3 M1.4x0.2  3CI ac | 1 7 |3 | 3 M1.6x0.2 B4 B 4 8 | 36 | 3 Y
II‘ M1.2x0.25 1C2 1c | 2 5 | 32 | 3 M1.2x0.2  3C8 ac | s 5 | 32 | 3 M1.4x0.2  3c2 s | o 7 | 34 | 3 M1.6x0.2 BS B 5 8 | 36 | 3 IT
C M1.2x0.25 1C3 1c | 3 5 | 32 | 3 M1.2x0.2 PO P 0 5 | 32 | 3 M1.4x02  3C3 ac | 3 7 | 84 | 3 M1.6x0.2 B6 B 6 8 | 36 | 3 C
M1.2x0.25 1C4 1c | 4 5 | 32 | 3 M1.2x02  P1 P 1 5 | 32 | 3 M1.4x0.2 _ 3C4 ac | 4 7 | 34 | 3 M1.6x0.2 B7 B 7 8 | 36 | 3
M1.2x0.25 1C5 1cC | 5 5 | 32 | 3 M1.2x02 P2 B 2 5 | 32 | 3 M1.4x0.2  3C5 s | 5 7 | 3 | 3 M1.6x0.2 B8 B 8 8 | 36 | 3
M1.2x0.25 1C6 1c | 6 5 | 32 | 3 M1.2x02  P3 B 3 5 | 32 | 3 M1.4x0.2  3C6 ac | 6 7 |34 | 3 M1.6x0.2 _ 3C0 ¢ | o 8 | 36 | 3
M1.2x0.25 1C7 c | 7 5 | 32 | 3 M1.2x02 P4 P 4 5 | 32 | 3 M1.4x0.2  3C7 ac | 7 7 |3 | 3 M1.6x0.2 _ 3C1 ac | 1 8 | 36 | 3
M1.2x0.25 1C8 1c | 8 5 | 32 | 3 M1.2x0.2 P5 B 5 5 | 32 | 3 M1.4x0.2  3C8 ac | s 7 |38 | 3 M1.6x0.2  3C2 s | o 8 | 36 | 3
M1.2x0.25 BO B 0 5 | 32 | 3 M1.2x02  P6 P 6 5 | 32 | 3 M1.4x02 PO P 0 7 | 3 | 3 M1.6x0.2 _ 3C3 ac_ | s 8 | 36 | 3
M1.2x0.25 B1 B 1 5 | 32 | 3 M1.2x02  P7 P 7 5 | 32 | 3 M1.4x02 PI1 P 1 7 | 34 | 3 M1.6x0.2 _ 3c4 ac | 4 8 | 36 | 3
M1.2x0.25 B2 B 2 5 | s2 | 3 M1.2x0.2 P8 P 8 5 | 32 | 3 M1.4x02 P2 P 2 7 | 3 | 3 M1.6x0.2 _ 3C5 s | 5 8 | 36 | 3
M1.2x0.25 B3 B 3 5 | 32 | 3 M1.4x0.3  1C1 1c | 1 7 | 3 | 3 M1.4x02 P3 P 3 7 |3 | 3 M1.6x0.2 _ 3C6 ac | 6 8 | 36 | 3
M1.2x0.25 B4 B 4 5 | 32 | 3 M1.4x0.3 _ 1c2 ic | e 7 | 3 | 3 M1.4x02 P4 P 4 7 |3 | 3 M1.6x0.2 _ 3C7 ac | 7 8 | 36 | 3
M1.2x0.25 BS B 5 5 | 32 | 3 M1.4x0.3  1C3 1c | 3 7 | 8 | 3 M1.4x02 PS5 P 5 7 |38 | 3 M1.6x0.2  3C8 ac | s 8 | 36 | 3
M1.2x0.25 B6 B 6 5 | 32 | 3 M1.4x0.3  1C4 1c | 4 7 | 84 | 3 M1.4x02 P86 P 6 7 | 3 | 3 M1.6x0.2 PO P 0 8 | 36 | 3
M1.2x0.25 B7 B 7 5 | 32 | 3 M1.4x0.3 _ 1C5 1cC | 5 7 | 34 | 3 M1.4x02 P7 P 7 7 | 34 | 3 M1.6x0.2 P1 P 1 8 | 36 | 3
M1.2x0.25 B8 B 8 5 | s2 | 3 M1.4x0.3  1C6 1c | 6 7 | 8 | 3 M1.4x02 P8 P 8 7 | 8 | 3 M1.6x02 P2 P 2 8 | 36 | 3
M1.2x0.25 3C0 ac | o 5 | 32 | 3 M1.4x0.3  1C7 1c | 7 7 | 3 | 3 M1.6x0.35 1C1 c | 1 8 | 36 | 3 M1.6x0.2 P3 P 3 8 | 36 | 3
M1.2x0.25 3C1 ac | 1 5 | 32 | 3 M1.4x0.3 _ 1C8 1c | s 7 | 3 | 3 M1.6x0.35 1C2 ic | @ 8 | 36 | 3 M1.6x0.2 P4 P 4 8 | 36 | 3
M1.2x0.25 3C2 ac | 2 5 | 32 | 3 M1.4x0.3  1C9 1c | o 7 | 8 | 3 M1.6x0.35 1C3 1c | 3 8 | 36 | 3 M1.6x02 PS5 P 5 8 | 36 | 3
M1.2x0.25 3C3 ac_ | 3 5 | 32 | 3 M1.4x0.3  B1 B 1 7 | 34 | 3 M1.6x0.35 1C4 1c | 4 8 | 36 | 3 M1.6x0.2 P6 P 6 8 | 36 | 3
M1.2x0.25 3C4 ac | 4 5 | 32 | 3 M1.4x0.3 B2 B 2 7 | 8 | 3 M1.6x0.35 1C5 1c | 5 8 | 36 | 3 M1.6x02 P7 P 7 8 | 36 | 3
M1.2x0.25 3C5 ac | 5 5 | 32 | 3 M1.4x0.3 B3 B 3 7 | 84 | 3 M1.6x0.35 1C6 1cC | 6 8 | 36 | 3 M1.6x02 P8 P 8 8 | 36 | 3
M1.2x0.25 3C6 ac | 6 5 | 32 | 3 M1.4x0.3 B4 B 4 7 | 3 | 3 M1.6x0.35 1C7 ic | 7 8 | 36 | 3 M1.7x0.35 1C1 1c | 1 8 | 36 | 3
M1.2x0.25 3C7 ac | 7 5 | 32 | 3 M1.4x0.3 _ B5 B 5 7 |84 | 3 M1.6x0.35 1C8 ic | s 8 | 36 | 3 M1.7x0.35 _1C2 ic | @ 8 | 36 | 3
M1.2x0.25 3C8 ac_ | s 5 | 32 | 3 M1.4x0.3  B6 B 6 7 | 3 | 3 M1.6x0.35 1C9 1c | 9 8 | 36 | 3 M1.7x0.35 1C3 1c | 3 8 | 36 | 3
M1.2x0.25 PO P 0 5 | 32 | 3 M1.4x0.3 B7 B 7 7 | 34 | 3 M1.6x0.35 B1 B 1 8 | 36 | 3 M1.7x0.35 1C4 1c | 4 8 | 36 | 3
M1.2x0.25 P1 P 1 5 | 32 | 3 M1.4x0.3 B8 B 8 7 | 84 | 3 M1.6x0.35 B2 B 2 8 | 36 | 3 M1.7x0.35 _1C5 1cC | 5 8 | 36 | 3
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S 1cC | 7 - 42 | 3 2.3x0.25 P8 P 7 o a2 | 3 M2.5x0.35 P P S 44 | 3 M2.6x0.35 P = 2 a4 | 3
M 167 9 M P7 9 35 P5 6 | 10 3 35 P2 3 | 10 3
2.3x0.4 c 8 42 3 2.3x0.25 P 8 42 3 M2.5x0. P 44 M2.6x0. P a2
M 1c8 9 M P8 < 35 P6 7 10 3 35 P3 4 | 10 3
M2.3x0.4 s 1C 9 5 42 3 M2.3x0.25 P 9 0 | 2z 3 M2.5x0. = P 0 | 22 M2.6x0. o4 P 0 | 22
M2.3x0.4 1C B 1 e 3 M2.3x0.25 P89 c 1 22 3 M2.5%0.35 P 8 24 3 M2.6x0.35 S 5 v} 3
B1 ) 9 3 5 1C1 > 10 3 0.35 PS8 9 10 3 0.35 P5 6 10 3
M2.3x0.4 B 42 M2.5x0.4 1C a4 M2.5x0. P 0 44 M2.6x0. P 0 44
B2 9 1c2 10 35 P9 1 1 3 35 P6 7 1 3
2.3x0.4 B 3 42 3 2.5%x0.45 1C 3 a4 3 M2.5x0. 1C 44 M2.6%0. P 44
M B3 9 M 1c3 10 5 1C1 2 10 3 35 P7 8 | 10 3
M2.3x0.4 B 4 S 40 3 M2.5x0.45 2 1c 4 T ) 3 M2.6x0.4 o2 1c o a4 M2.6x0. — P T a4
M2.3x0.4 B4 B 5 o | 42 | 3 M2.5x0.45 1 °5 1cC | 5 10 | 44 | 3 M2.6x0.45 103 1c | 3 10 | 44 | 3 M2.6x0.35 " P 9 0 | 46 | 3
M2.3x0.4  BS B 6 9 42 & M2.5x0.45 1 CG 1C 6 0 | a2 3 M2.6x0.45 T c 4 0 | a4 3 M2.6x0.35 102 10 2 0 | 48 3
M2.3x04 B6 e M25x0.45 106 B M26x0.45 _1c4 e T e T o T4 s M3 xo5 102 o T a0 2 3
M2.3x04 B7 B 8 9 42 3 M2.5x0.45 108 1C 8 0 44 3 M2.6x0.45 1c6 1C 6 10 44 3 M3 x0.5 1ca 1€ 4 10 46 S
M2 S0 THIE S B o 9 42 3 M2.5x0.45 109 1C 9 o 24 3 M2.6x0.45 1c7 1C z 10 44 S M3 x0.5 1C5 1C 5 0 46 =
M2.3x0.4 591 3c ! 5 42 3 M2.5x0.45 1C B ! 0 | a2 3 M2.6x0.45 o8 1C 8 0 | 44 3 M3 x0.5 106 G 6 10 | 46 3
M2.3x0.4 302 3C 2 5 42 3 M2.5x0.45 B1 B 2 o 24 3 M2.6x0.45 oo 1C 9 5 a4 3 M3 x0.5 107 1c 7 o 26 3
M2.3x0.4 303 3C 3 5 42 3 M2.5x0.45 B2 B 3 0 44 3 M2.6x0.45 2 B L 0 | a4 = M3 x0.5 1c8 ic g 10 | 46 e
M2.3x0.4 304 0 4 5 42 3 M2.5x0.45 B3 B 4 0 1 22 3 M2.6%0.45 = B 2 0 | a2 3 M3 x0.5 oo C 9 o | a8 3
M2.3x0.4 305 3C = 9 | a2 3 M2.5x0.45 B4 B 5 0 | aa | 3 M2.6x0.45 = B = 10 | 44 | 3 M3 x0.5 1c10 1C_| 10 10 | 46 | 3
M2.3x0.4 306 3C 6 5 42 3 M2.5x0.45 B5 B 6 s a4 3 M2.6x0.45 4 B 4 0 44 3 M3 x0.5 =5 B 2 T 46 3
M2.3x0.4  3C 3¢ | 7 9 | 42 | 3 M2.5x0.45 B6 B Z o | 44 | 3 M2.6x0.45 s B S 10 | 44 | 3 M3 x0.5 = B S 10 | 46 | 3
3x0.4  3C7 c 8 o 3 5x045 B7 8 ! 3 M2.6x0.45 B B 6 44 € M3 x05 B B =
M2. cs 3 9 4 M2. 5 B 10 44 B6 10 B4
M2.3x0.4 3 3c 9 5 42 3 M2.5x0.45 B B 9 0 44 3 M2.6x0.45 = B 7 0 | a4 3 M3 x0.5
M2.3x0.4 3?9 P ! e 42 3 M2.5x0.45 321 3c ! 0 | 22 3 M2.6x0.45 = B 8 0 | 24 3
M2.3x0.4 = P | 2 9 | 42 | s M2.5x045 30T ac | e 10 | 44 | 3 M2'5x°'4§ B9 50
M2.3x0.4 = P = 9 | a2 3 M2.5%0.45 aCs 3c 3 10 | 44 | 3 M2.6x0.4
M2.3x0.4 b4 P 4 5 42 3 M2.5x0.45 s04 3c 4 0 | aa 3
M2.3x0.4 P 5 9 | 42 | 3 M2.5x0.45 ac | 5 0 a2 | 3
x04 P5 6 3 x0.45 3C5 6
M2.3 = P 5 42 M2.5 306 3C
M2.3x0.4 = P 7 5 42 3 M2.5x0.45
M2.3x0.4 PB P 8 5 42 3
M2.3x0.4 P P S
P9
M2.3x0.4
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IT'TF'C BEpLEL 127
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s 1z 102k
I —— 1c | 1w L.
<Amme—— - B | aw o WO EvF RMEE | BN | BE | IR | 2R | AR WU EvF BRMEE | BN | BE | IR | 2R | AR
3C 3 g; M3 x0.35 P8 P 8 10 46 3 M3 x0.35 3C4 3C 4 10 46 4
P au 2 M3 x0.35 P9 P 9 | 10 | 46 3 M3 x0.35 3C5 3c 5 10 | 46 | 4
SB% e M3 x0.35 P10 P |10 | 10 | 46 | 3 M3 x0.35 3C6 3 | 6 | 10 | 46 | 4 B8
3 R M3 x0.5 1C4 C 4 10 | 46 4 M3 x0.35 3C7 3C 7 10 | 46 | 4 J:g
%lf BO CyF BEE | BN | BmE | IE | 28 | @S BO CyF BHEE | BN | BE | IE | 28 | @@ M3 x05 105 16 | S [ 10 | 46 | 4 M3 x0.35 308 sc | 8 |10 | 46 4 ¥
6% M3 x0.5 1C6 1C 6 | 10 | 46 4 M3 x0.35 3C9 3c 9 10 | 46 | 4 55
3y M3 x05 B5 B 5 | 10 | 46 3 M3 x0.35 B8 B 8 | 10 | 46 3 M3 x05 1C7 1C 7 | 10 | 46 4 M3 x0.35 P4 P 4 10 | 46 | 4 =
%7 M3 x05 B6 B 6 | 10 | 46 3 M3 x0.35 B9 B 9 | 10 | 46 3 M3 x05 1c8 1C 8 | 10 | 46 4 M3 x0.35 P5 P 5 10 | 46 | 4 7%
n X M3 x05 B7 B 7 | 10 | 46 3 M3 x0.35 BI10 B 10 | 10 | 46 3 M3 x0.5 1C9 1c 9 | 10 | 46 4 M3 x0.35 P6 P 6 10 | 46 | 4 2o
qg M3 x05 B8 B 8 | 10 | 46 3 M3 x0.35 3c2 3c 2 | 10 | 46 3 M3 x05 B4 B 4 10 | 46 4 M3 x0.35 P7 P 7 10 | 46 | 4 g':,
>0 M3 x05 B9 B 9 | 10 | 46 3 M3 x0.35 3C3 3c 3 | 10 | 46 3 M3 x05 B5 B 5 10 | 46 4 M3 x0.35 P8 P 8 10 | 46 | 4 -
oY M3 x05 BI10 B 10 | 10 | 46 3 M3 x0.35 3C4 3c 4 | 10 | 46 3 M3 x05 B6 B 6 10 | 46 4 M3 x0.35 P9 P 9 10 | 46 | 4 ‘I{E
ak M3 x05 3c2 3c 2 | 10 | 46 3 M3 x0.35 3C5 3c 5 | 10 | 46 3 M3 x05 B7 B 7 10 | 46 4 M35x0.6 1C5 1C 5 10 | 48 | 4 rd
M3 x0.5 3C3 3c 3 | 10 | 46 3 M3 x0.35 3C6 3c 6 | 10 | 46 3 M3 x05 B8 B 8 10 | 46 4 M35x0.6 1C6 1C 6 10 | 48 | 4
wE M3 x05 3C4 3c 4 | 10 | 46 3 M3 x0.35 3C7 3c 7 | 10 | 46 3 M3 x05 B9 B 9 10 | 46 4 M35x0.6 1C7 1C 7 10 | 48 | 4 =1
[S] M3 x05 3C5 3C 5 | 10 | 46 3 M3 x0.35 3C8 3C 8 | 10 | 46 3 M3 x05 3c4 3c 4 10 | 46 4 M3.5x0.6 B5 B 5 10 | 48 | 4 Fﬂ’a
@Fﬂ M3 x0.5 3C6 3c 6 | 10 | 46 3 M3 x0.35 3C9 3c 9 | 10 | 46 3 M3 x05 3C5 3c 5 10 | 46 4 M35x0.6 B6 B 6 10 | 48 | 4 r._g
3’3 M3 x05 3C7 3c 7 | 10 | 46 3 M3 x0.35 3C10 3c | 10 | 10 | 46 3 M3 x0.5 3C6 3c 6 0 | 46 4 M35x0.6 B7 B 7 10 | 48 | 4 )
S fE M3 x05 3C8 3c 8 | 10 | 46 3 M3 x0.35 P2 P 2 | 10 | 46 3 M3 x05 3C7 3c 7 10 | 46 4 M3.5x0.6 P5 P 5 10 | 48 | 4 Eﬁ
S M3 x05 3Co 3c 9 | 10 | 46 3 M3 x0.35 P3 P 3 | 10 | 46 3 M3 x05 3c8 3c 8 10 | 46 4 M35x0.6 P6 P 6 10 | 48 | 4 ES
%;E M3 x05 3C10 3c | 10 | 10 | 46 3 M3 x0.35 P4 P 4 | 10 | 46 3 M3 x0.5 3C9 3c 9 10 | 46 4 M35x0.6 P7 P 7 10 | 48 | 4 xo
= M3 x05 P2 P 2 | 10 | 46 3 M3 x0.35 P5 P 5 | 10 | 46 3 M3 x05 P4 P 4 10 | 46 4 M4 x0.7 1C6 1C 6 10 | 52 | 5 g
= M3 x05 P3 P 3 | 10 | 46 3 M3 x0.35 PG P 6 | 10 | 46 3 M3 x05 P5 P 5 10 | 46 4 M4 x0.7 1C7 1C 7 10 | 52 | 5 =
e M3 x05 P4 P 4 | 10 | 46 3 M3 x0.35 P7 P 7 | 10 | 46 3 M3 x05 P6 P 6 0 | 46 4 M4 x0.7 1c8 1C 8 10 | 52 | 5 g
S M3 x05 P5 P 5 | 10 | 46 3 M3 x0.35 P8 P 8 | 10 | 46 3 M3 x05 P7 P 7 10 | 46 4 M4 x0.7 B6 B 6 10 | 52 | 5 =
M3 x05 PG P 6 | 10 | 46 3 M3 x0.35 P9 P 9 | 10 | 46 3 M3 x05 P8 P 8 10 | 46 4 M4 x0.7 B7 B 7 10 | 52 | 5 ~
| 3 M3 x05 P7 P 7 | 10 | 46 3 M3 x0.35 P10 P 0 | 10 | 46 3 M3 x05 P9 P 9 0 | 46 4 M4 x0.7 B8 B 8 10 | 52 | 5 =1
T= M3 x05 P8 P 8 | 10 | 46 3 M3 x05 1C5 c 5 | 10 | 46 4 M3 x0.35 1C4 1C 4 10 | 46 4 M4 x0.7 P6 P 6 10 | 52 | 5 =T
IR M3 x05 P9 P 9 | 10 | 46 3 M3 x05 1C6 1C 6 | 10 | 46 4 M3 x0.35 1C5 1C 5 10 | 46 4 M4 x0.7 P7 P 7 10 | 52 | 5 59
75 M3 x05 P10 P 10 | 10 | 46 3 M3 x05 1C7 1c 7 | 10 | 46 4 M3 x0.35 1C6 1c 5 0 | 46 4 M4 x0.7 P8 P 8 10 | 52 | 5 a7
L M3 x0.35 1C2 1c 2 | 10 | 46 3 M3 x05 BS B 5 | 10 | 46 4 M3 x0.35 1C7 1C 7 10 | 46 4 M5 x0.8 1C6 1C 6 10 | 60 | 55 I\/
Y M3 x0.35 1C3 1C 3 | 10 | 46 3 M3 x05 B6 B 6 | 10 | 46 4 M3 x0.35 1C8 1c 8 10 | 46 4 M5 x0.8 1C7 1C 7 10 | 60 | 55 Y
||‘ M3 x0.35 1C4 1c 4 | 10 | 46 3 M3 x05 B7 B 7 | 10 | 46 4 M3 x0.35 1C9 1c 9 0 | 46 4 M5 x0.8 1C8 1c 8 10 | 60 | 55 IT
C M3 x0.35 1C5 c 5 | 10 | 46 3 M3 x05 P5 P 5 | 10 | 46 4 M3 x0.35 B4 B 4 10 | 46 4 M5 x0.8 B6 B 6 10 | 60 | 55 C
M3 x0.35 1C6 1C 6 | 10 | 46 3 M3 x05 P6 P 6 | 10 | 46 4 M3 x0.35 B5 B 5 10 | 46 4 M5 x0.8 B7 B 7 10 | 60 | 55
M3 x0.35 1C7 1C 7 | 10 | 46 3 M3 x05 P7 P 7 | 10 | 46 4 M3 x0.35 B6 B 6 0 | 46 4 M5 x0.8 B8 B 8 10 | 60 | 55
M3 x0.35 1C8 1C 8 | 10 | 46 3 M3 x0.35 1C5 1C 5 | 10 | 46 4 M3 x0.35 B7 B 7 10 | 46 4 M5 x0.8 P6 P 6 10 | 60 | 55
M3 x0.35 1C9 1C 9 | 10 | 46 3 M3 x0.35 1C6 1C 6 | 10 | 46 4 M3 x0.35 B8 B 8 10 | 46 4 M5 x0.8 P7 P 7 10 | 60 | 55
M3 x0.35 1C10 1c | 10 | 10 | 46 3 M3 x0.35 1C7 1c 7 | 10 | 46 4 M3 x0.35 B9 B 9 10 | 46 4 M5 x08 P8 P 8 10 | 60 | 55
M3 x0.35 B2 B 2 | 10 | 46 3 M3 x0.35 B5 B 5 | 10 | 46 4
M3 x0.35 B3 B 3 | 10 | 46 3 M3 x0.35 B6 B 6 | 10 | 46 4
M3 x0.35 B4 B 4 | 10 | 46 3 M3 x0.35 B7 B 7 | 10 | 46 4
M3 x0.35 BS B 5 | 10 | 46 3 M3 x0.35 P5 P 5 | 10 | 46 4
M3 x0.35 B6 B 6 | 10 | 46 3 M3 x0.35 P6 P 6 | 10 | 46 4
M3 x0.35 B7 B 7 | 10 | 46 3 M3 x0.35 P7 P 7 | 10 | 46 4
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%J: BEEHR
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Elj' Y EvF BfIEE BT HE AR =3 R HU EvF BEE B HE AR =3 R
@®
q?y MB x1 1c7 1C 7 10 62 6 M8 x1 1C7 1C 7 18 70 6.2
%7 MB x1 1c8 1C 8 10 62 6 M8 x1 1c8 1C 8 18 70 6.2
0= M6 x1 1c9 1C 9 10 62 6 M8 x1 1Cc9 1C 9 18 70 6.2
qg MB x1 B7 B 7 10 62 6 M8 x1 B7 B 7 18 70 6.2
=N M6 x1 B8 8 10 62 6 M8 x1 B8 8 18 70 6.2
Ei{ M x1 B9 B 9 10 62 6 M8 x1 B9 B 9 18 70 6.2
=L MB X1 P7 P 7 10 62 6 M8 x1 P7 P 7 18 70 6.2
M x1 P8 P 8 10 62 6 M8 x1 P8 P 8 18 70 6.2
3_@ M6 x1 P9 P 9 10 62 6 M8 x1 P9 P 9 18 70 6.2
= M6 x0.75 1C7 @ 7 10 62 6 M10 x1.5 1C7 1C 7 19 75 7
@Fﬂ M6 x0.75 1C8 © 8 10 62 6 M10 x1.5 1C8 1@ 8 19 75 7
3’?5- M6 x0.75 1C9 1C 9 10 62 6 M10 x1.5 1C9 1@ 9 19 75 7
%T:E M6 x0.75 B7 B 7 10 62 6 M10 x1.5 B7 B 7 19 75 7
EJE M6 x0.75 B8 8 10 62 6 M10x1.5 B8 8 19 75 7
%§ M6 x0.75 B9 B 9 10 62 6 M10 x1.5 B9 B 9 19 75 7
2 M6 x0.75 P7 P 7 10 62 6 M10 x1.5 P7 P 7 19 75 7
= M6 x0.75 P8 P 8 10 62 6 M10 x1.5 P8 P 8 19 75 7
g M6 x0.75 P9 P 9 10 62 6 M10 x1.5 P9 P 9 19 75 7
= M7 x1 1c7 1C 7 16 65 6.2 M10 x1.25 1C7 1C 7 19 75 7
_ M7 x1 1c8 1C 8 16 65 6.2 M10 x1.25 1C8 1C 8 19 75 7
[ = M7 x1 1c9 1C 9 16 65 6.2 M10 x1.25 1C9 1C 9 19 75 7
T> M7 x1 B7 B 7 16 65 6.2 M10 x1.25 B7 B 7 19 75 7
95 M7 X1 B8 8 16 65 6.2 M10 x1.25 B8 8 19 75 7
Bb M7 x1 B9 B 9 16 65 6.2 M10 x1.25 B9 B 9 19 75 7
M7 x1 P7 P 7 16 65 6.2 M10 x1.25 P7 P 7 19 75 7
v M7 x1 P8 P 8 16 65 6.2 M10 x1.25 P8 P 8 19 75 7
ll‘ M7 x1 P9 P 9 16 65 6.2 M10 x1.25 P9 P 9 19 75 7
C M8 x1.25 1C7 @ 7 18 70 6.2 M10 x1 1c7 1© 7 19 75 7
M8 x1.25 1C8 1C 8 18 70 6.2 M10 x1 1c8 1© 8 19 75 7
M8 x1.25 1C9 i@ 9 18 70 6.2 M10 x 1 1c9 1C 9 19 75 7
M8 x1.25 B7 B 7 18 70 6.2 M10 X1 B7 B 7 19 75 7
M8 x1.25 B8 B 8 18 70 6.2 M10 x 1 B8 B 8 19 75 7
M8 x1.25 B9 B 9 18 70 6.2 M10 x 1 B9 B 9 19 75 7
M8 x1.25 P7 P 7 18 70 6.2 M10 x1 P7 P 7 19 75 7
M8 x1.25 P8 P 8 18 70 6.2 M10 x 1 P8 P 8 19 75 7
M8 x1.25 P9 P 9 18 70 6.2 M10 x 1 P9 P 9 19 75 7
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